AP Calculus Name
Review: Derivatives D2-Day 7
1-6: Suppose the functions f and g and their first

- o f(x) f(x)
derivatives have the values given in the table to 9 >
the 3 1
right at x=-1 and x=0. Find the first derivative 5
of each of the following at the given value of x.
1. Ixf(x), x=1 2. Jf(x), x=0 3 f(&) x=1

_ = f
4. f(1-5tnx), x=0 5. 100 6. 103in(ﬂ_XJf2(X), x=1
2 +COS X 2

7-15: Suppose the functions f and g and their 1st

derivatives have the values given in the table to X fO) | gx) | F'(x) | 9'(x)
right at x=-1 and x=0. Find the first derivative 0 -1 -3 —2 4
of each of the following at the given value of x.
7. f(ZX), x=0 8. fZ(X)gs(X)7 x=0 9. 2920 y_Q
x—1
10 9(f(x), x=-1 1. f(g(¥), x=-1 12. f(g(2x-1)), x=0

13. g(x+ f(x)), x=0 14. g'(x), x=-3

15. g7 (f4(x), x

0
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16-30 : Find the derivative of the function.

16. y=e*" 17. y=sin’x 18. y=3*

19. b=log,(t-7) 20. y=|n(ex2) 21. y=In(sinx)

— ylnx 2x) 2* . tanx
22. y=X 3. y:( X) 24. y=e
X?+1

25. y=sin"y1-u?

26. y=(1+t*)cot™ 2t

27. y= tanl(ij
X

28. y=cos(1l-2t)

29. y=xe”*

30. y=log,(6?)
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31-34: Find dy/dx .
31. xy+2x+3y=1 32. 5x% +10y* =15
33. Jxy =1 34, y2 =X
' X+1

35-38: Find the equation of the tangent line at the given value of x.
35, y=+vx?-2x, x=3 36. y=tan2x, x=x/3

37. x*+2y?=9, (12 38. x+4/xy =6, (4,




AP Calculus

Review: Derivatives

Name
D2-Day 7

39. The height (in meters) of a projectile shot vertically upward from a point 10 meters above
ground level with an initial velocity of 40 m/sis h =10+ 40t —4.9t* after t seconds.
a. Find the velocity after 2 s and after 4s.

d. When does it hit the ground?

b. When does the projectile reach its maximum

height?

e. With what velocity does it hit
the ground?

c. What is the maximum height?

Answers:
1) 13
10
7) s
13) -
19) !
(t-7)in5
25) ml
1-u?
30) _Z_
0In3
2
35) Y_\/_=ﬁ
39)

2)

8)
14)

20)
26)
31)

(x-3)

Q) v2)=204"
sec

m
4)=8"1
v(4) o

_1 3) il
3 10
0 9) In2
1 15) 1
4 2
2X 21 ) cotx
21 | gt eoti2n
4711
2-y 32) -1
x+3 3 .
xSy
36) y+\/§=8(x—%]
b) t=4082sec  C)

4)

10)
16)

22)
27)
33)

91.633 meters

5) ‘% 6) 12
11) 2 12) 4
]7) 3cosxsin®x ]8) 8x%-3%>.In3
23 oo X |22 24

) {X n2 X2+Jx/x2+1 ) i2+1
28) 2sin(1-2t) 29) e (-x+1)
34) L

2(x+1)5\/;

y72:—%(x71) 38) Yflzfg(xfﬁf)

d) t=8406sec g) v(8.406):—42.379%



